I (mm)

t(s)
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A= = =0,272-10°(m*) =27,2(cm®) |
D PN, 0,92-160-10° (m7) =27, 2(cm)

D =5,88-10%(m) = 59(mm)

Kivalasztott munkahenger:
D63/236-125 = Ap=31,210%(m?); o =1,4




<S5 \T |
p, fa 5 Al K TI
2 — I 7 T IEVaVaVe
F 4.10* O\ﬁ Y ><
= = =1,39:10"(Pa)=139 (b
Pl A, 092:312-10° (Pa)=139(bar) " T2
m 4 4 b
Vo= ApL =31,21040,1 = 31,2 10 (m?) @@ """ e
) -5 3y — N S\
g = Vo 31210 :15,6.10-13] | L§ ‘
— t 2 S
1
q, 156 3 Kivalasztott szivattyu:
Ve=— _5_6,5 (cm”) IPF2G2-4x = V,=8,2(cm?)

3
—_ _ -6 _ 5 m
q,=7V,n=09582-10"-24=18,7-10 ( j

\)



F(N) P, =F-v=0!

1 =

p,= 139 (bar) Phidr —P

veszt

P_.=q, p,=187-10"-1,39-10°

’ T —T| = Pveszt — 2a599 ) 103 (W) = 296(kW)
T—T | | >< A=0,630,32+2:0,63-0,221 +2:0,32-:0,221
A = 0,62 (m?)
Kivalasztott tartaly:
_ 3
V = 40 (dm?) k:12( K j 5=0.85. 103(kgj
m’-C-S m

C= 2.103(L} V =40 (dm’)
kg®C

A=0,62(m?); & =20(°C)
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8(°0) A?QOO — AWPV :EPV

T As = 26.10°=34946(°C)

>~ 12.0.62
B, =, + A8, =369,46 (°C)

t (s)

Y (mc) pVe 085-10°-40-10°-2,1-10°
— kA k A 120,62

=9596,7 (s)

1 1
AU _ ' __40 =0,115 =—=e " =0,886
A 349,46

+—t
e ' =1,129 %Tit:O,122%t=1166(s)=19,4(min)<20(min)
1



p (bar)

P3

VAAVZAN

%) /
P17

t (s)

qu 7]

(dm3 J
qv| —.
min

p3 = p(max) — @(bar)

P> = Pminy = 130 (bar)

MAN
NN

q,= 9,36 (dm*/min)

7

—

<2

Ve
P, ST

263/34-125

1 . 0,1
v, =p—=14-
— ¢t1 2
v,=7-107 (Ej —t, =14,3(s)
S



Ha V= 1,2 (cm’),
qys= M,V n=0,951,2:10°24 = 27,36 -107 (cm*/s)=1,64 (dm>/min)

AV = >g.,t = 2(q,-q,.)-1200 qyr+1,43(q,-q,,) =
=13,43 (15,6-2,66) -10~ + 1200-0,7 10°6=
= 44,38 105 + 8410 = 128.38 -10°5 (m?)

P2>17 5y, s%sn&z (bar) — p, =100 (bar)
Pi ’

AV 12838:10” P ;
Vl_Pl_pl = 100 100 =9.87-107(m’) =9,87(dm")

p, p, 130 155

V, =10 (dm?)




Toltési 1do

Qvs = dv - Qvr = 0

AV =q, -t

AV =V,

Vl

H
Il

tolt

P

£_

P,

(Pl
P>

= (qVS B qVR ) tt(jlt

=

)
)

= qy =

- Jyr
(K :],4)
10-107 (100
130

Vi

N

.

qVR

s s
j 4 (100) 4
155

]

qVS

tolt

s

_qVR

t =39,38(s)

(2,66—(),07)-10‘5



Uritési 1d0

AV =q., t, :Vl(pl _Plj
P, Ps

v pl_plj 10.10_3(100_100j
- \p, by 130 155

Qor 0,07-107
t. =1857(s)

i

H
|
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Megindulasi 1d0 V,

qva+ qVS B qv= 0 — qva= qV_ qVS= 27%.10_5
Pl:[ ]

AV =q, -t =1294-10"-2=25,84-10" (m’)

AV =V,

Qvafl  Qy
() (2 Ji
BER

(k=1,4) Jos
P> P;

1

1
K K 1075
P AV (B ] 2588107
P, V, P, 10-10

=0,0259+ 0,833 =0,8589 = 0,86

P 1,4 1
1 =0,86"=0,809 > p, =——np, =1,235p, =123.5 (bar
o, P> 0.809 Pi P: (bar)



Fpin = 3.5510* (N)

1 1
P=—q,  p,= ﬁ-2,66-10'5 155-10° (W)
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